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SHAES5H 9]
XA X5 A = £% (M)
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6 | 24 BE |BERHRE E8 ZETH 5,000
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7 | 26 |BEMSE|RKBREZLERRE 10,000
Hi 10,000
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XHiH X5 2 =& (M)
8 | 10| BFE |BHEHFRE ¥A 3,000
8 | 10| HF |HEHFRE ¥A 3,000
8 | 10| BFE |HEHFRE ¥A 3,000
8 | 10| HFE |BHEHFRE ¥A 3,000
H 12,000
A&t 53,500
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XHiH X5 2 =& (M)
10| 14| FF |ITHRTEREE ZBHEETH 5,000
10| 20 | FF |ITHRHTEEREE EXEETH 5,000
H 10,000
A&t 63,500
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XHiH X5 2 =& (M)
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| 14| FF |[ITRHEREE EEBEETH 5,000
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A&t 84,500
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12| 3 28 |BET_RRESE 1,000
12 5 28 |BIERERXRE 9,000
H 17,000
A&t 101,500
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XHiH X5 2 ®% (M)
1 4 BE (BEZEREHRBE EXEETH 5,000
1 5 2B |ITHEEIRER BAXER 4,000
1 5 |28 |1TRERE BEFEX#H= 6,000
1 6 BE |(BEBRE EXEETH 5,000
1 9 |28 |MMERR BEFEX#E= 6,000
1113 8 [SARR RAX#= 6,000
1| 13| | |[EROFEREM028EHELHR 10,000
1|13 | £& [((TRHTREBH= 8,000
i 50,000
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2 2 mi [FrER 1,987
2 | 10 mi [FrER 5,140
H 7,127
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XHA X5 N B =& (M)
3| 3 2% |EIVF—LKEZELET Iy 7,000
&t 7,000
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